i‘..

FASOPACNPEAE/UTE/IbHAA CUCTEMA

15



FASOPACNPEAE/UTE/IbHAA CUCTEMA

# Ne 3anyacTu HasBaHue Kon-Bo | lp1MeyaHuma
1 | GB/T5782-2000 Bont M8x35 4
2 | GB/T5782-2000 Bont M8x80 2
3 | GB/T93-1987 LLlar6a MpoBepa 8 35
4 | GB/T97.1-1985 Wan6a nnockas 8—140HV 25
5 | NB485BPG-16001 KpbllwKa KapTepa 1
6 | GB/T5782-2000 Bont M8x45 2
7 | NA485BPG-16002 Mpoknagxa 1
8 | GB/T5782-2000 Bont M8x50 2
9 | NA485BPG-02003 | PacnpegenurenibHadA WeCcTepHA TOMNJIMBHONO Hacoca 1
10 | NA385B-02012 MpUKMMHAsA NIaCTMHA pPacrpeae/MTE NIbHOM LLIECTEPHM 1
11 | NA485BPG-02006 lMpomexkyToyHas wectepHA 1
12 | GB/T5782-2000 Bonat M8x50 1
13 | NA485BPG-16003 Kaptep 1
14 | NA485BPG-02007 | PacnpegenmtenbHasa WeCTEPHA KOJIeHYaToro Bana 1
15 | NA485BPG-16009 Mpoknagka KapTtepa 1
16 | NA385B-02008 CronopHasa naacTUHa KoJieH4aToro Basa 1
17 | NA485BPG-02004A Ban pacnpeaenvTenbHOM LECTEPHU 1
18 | NA485BPG-02005 BTynka pacnpegenmTenbHOM LWeCTEPHU 1
19 | GB/T5783-2000 Bont M8x20 2
20 | GB/T5783-2000 Bont M8x25 9
21 | NA485BPG-02009 LLlecTtepHA pacnpegenmMtenbHOro Basa 1
22 | NA385B-02011 MpuKMMHas LWakba pacnpeaenmTesibHOro Basa 1
23 | GB/T93-1987 LLlar6a MpoBepa 12 1
24 | GB/T5783-2000 Bont M12x30 1

16




FASOPACNPEAE/UTE/IbHAA CUCTEMA

# Ne 3anyacTu HasBaHue Kon-Bo | lp1MeyaHuma
25 | GB/T5782-2000 Bont M8x40 3
26 | GB/T5782-2000 Bont M8x65 2
27 | GB/T5782-2000 Bont M8x60 1
28 | GB/T5782-2000 Bont M8x75 2
29 | NA385B-16005 KpbllWwKa TonaMBHOro Hacoca 1
30 | NA385B-16006 [MpoksagKa KpbIWKKU TONJIMBHOIO Hacoca 1
31 | GB/T5783-2000 Bont M8x20 2
32 | NA485BPG-53002 KpoHwTenH 1
33 | NA485BPG-16021 MpoknagKka kopnyca ruapoHacoca 1
34 | NA485BPG-16020 Kopnyc np1Boaa ruapoHacoca 1
35 | NA485BPG-16022 CoegmHuTeNIbHAA NPOK/IaZKa rMapoHacoca 1
36 | GB/T97.1-1985 LWarba 2
37 | GB/T93-1987 LLlan6a MNposepa 10 2
39 | GB/T5782-2000 Bont M10x50 2
40 | GB/T276-1994 MoawmnnHmMk 6005 1
41 | NA485BPG-02017 LLlecTepHAa npuBoAa rmapoHacoca 1
42 | GB/T292-19%4 MoawmnHuk 7008C 1
43 | NA485BPG-16023 CoeguHuUTENIBHAA NJIACTUHA rMAPOHAcoca 1
44 | NA485BPG-16024 MpoknagKka rmgpoHacoca 1
45 | NA485BPG-16025 TopueBas 3arnyLKa 1
46 | NA385B-06003 LWTaHra Tonkarens 8
47 | NA385B-06002 Tonkatenb 8
48 | GB/T1096-1988 LLnoHka C10x25 1
49 | NB485BPG-06001 PacnpeaenmTenbHbIM Ban 1

17




FASOPACNPEAE/UTE/IbHAA CUCTEMA

# Ne 3anyacTu HasBaHue Kon-Bo | lp1MeyaHuma
50 | GB/T6173-2000 Farka M8x1-H62 4
51 | GB/T6171-2000 Famka M8x1-H62 4
52 | GB/T898-1988 LWt GM8 4
53 MpoKnagKa BbIMYCKHOro KoJIJIEKTOpa 1
54 | NB485B-08001-3 BbinycKkHOM KonnekTop 1
55 | ZBT32003-88 3arnywka 30 1
56 | NA485B-09002 Bo3ayxo3abopHas Tpybka 1
57 | NA485B-09004 MpoK/aaKa BO34yX03ab0pHOM TPY6KM 1
58 | NA485BPG-09003-2 CoeguHuTeNnbHaA TpyoKa 1
59 | GB/T5783-2000 Bont M8x20 4
60 | NB485BPG-16033 BTysnka nogwmnHuKa pacnpeasana 1
61 | GB/T276-1994 MNoawmnHuk 6204 1
62 | NB485BPG-16032 Haknazka onopHasa nowunHuKa 1
63 | NB485BPG-16034 | lNocafoyHasA NOBEPXHOCTb MOALLMIHMKA pacrpeiBasia 1
64 | NB485BPG-16031 | [He340 noAwwMNHMKA pacnpeienmTenibHoro sasia 1
65 | GB/T5783-2000 Bont M10x25 1
66 | GB/T93-1987 LLar6a Nposepa 10 1

18




